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𝐴𝑠𝑠𝑢𝑚𝑖𝑛𝑔 𝑡ℎ𝑒𝑟𝑒 𝑎𝑟𝑒 𝑥 𝑠𝑡𝑢𝑑𝑒𝑛𝑡𝑠 𝑖𝑛 𝑡𝑜𝑡𝑎𝑙, 𝑡ℎ𝑒 𝑛𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑔𝑟𝑒𝑒𝑛 𝑒𝑦𝑒𝑠 𝑐𝑎𝑛 𝑏𝑒 𝑒𝑥𝑝𝑟𝑒𝑠𝑠𝑒𝑑 𝑎𝑠
1
4
× 𝑥 −

1
3
𝑥 =

2
12
𝑥

𝑎𝑐𝑐𝑜𝑟𝑑𝑖𝑛𝑔 𝑡𝑜 𝑡ℎ𝑒 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛 𝑠𝑡𝑒𝑚 𝑖𝑛𝑓𝑜𝑟𝑚𝑎𝑡𝑖𝑜𝑛
Think of 12 student!!!
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Regardless of whether it contains or does not contain, it is a 
continuous number anyway, so average = median
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𝑆𝑞𝑢𝑎𝑟𝑒 𝑠𝑢𝑟𝑓𝑎𝑐𝑒: 10×10 = 100

𝑐𝑢𝑏𝑒 𝑠𝑢𝑟𝑓𝑎𝑐𝑒: 4×4×6 = 96
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𝑛! + 2𝑛 = (𝑛 + 1)!−1
𝑡ℎ𝑎𝑡 𝑡ℎ𝑒 𝑟𝑒𝑠𝑢𝑙𝑡 𝑖𝑠 𝑒𝑣𝑒𝑛 𝑖𝑛𝑑𝑖𝑐𝑎𝑡𝑒𝑠 𝑡ℎ𝑎𝑡 𝑛 𝑖𝑠 𝑒𝑣𝑒𝑛 𝑎𝑛𝑑 𝑏𝑖𝑔𝑒𝑟 𝑡ℎ𝑎𝑛 1
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𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝐴𝐵𝐶 = 1 + 1 + 2 ≅ 3.4

𝑃𝑒𝑟𝑖𝑚𝑒𝑡𝑒𝑟 𝑃𝑄𝑅 = 1 + 1 + 1 = 3
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𝐴 = (−5 − −2 )!+(−3 − −5 )!= 13

𝐵 = (3 − 6)!+(4 − 2)!= 13
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𝑥 =
1
2

𝑥 = 1

𝑥 = 2
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ℎ𝑜𝑢𝑟 𝑒𝑎𝑟𝑛 = 240×4 = 960

𝑐𝑜𝑚𝑚𝑖𝑠𝑠𝑖𝑜𝑛 𝑒𝑎𝑟𝑛 = 10%×40,400 = 4,040

4,040
960 + 4,040 = 80.8%
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65 − 35
0.62 ≅ 48
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𝑄𝑢𝑖𝑐𝑘𝑙𝑦 𝑐𝑎𝑙𝑐𝑢𝑙𝑎𝑡𝑒 4 < 𝑎 < 8,
𝑎 = 5,6,7 𝑓𝑟𝑜𝑚 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑦.
2𝑎 + 4 < 𝑎! − 20,𝑤𝑒 𝑔𝑒𝑡 (𝑎 − 6)(𝑎 + 4) > 0,
𝑡ℎ𝑒𝑛 𝑎 ≠ 6, 𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑦 = 0;
𝑡ℎ𝑒𝑛 𝑎 ≠ 5, 𝑡ℎ𝑒 𝑖𝑛𝑒𝑞𝑢𝑎𝑙𝑖𝑡𝑦 𝑖𝑠 𝑙𝑒𝑠𝑠 𝑡ℎ𝑎𝑛 0, 𝑂𝑛𝑙𝑦 7 𝑙𝑒𝑓𝑡.
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360
72,000×12 = 6%
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𝐴 = 𝑎, 𝑎 + 1, 𝑎 + 2, 𝑎 + 3
𝐵 = (𝑎 + 2, 𝑎 + 3, 𝑎 + 4, 𝑎 + 5 & 𝑎 − 2, 𝑎 − 1, 𝑎, 𝑎 + 1 }
𝑇ℎ𝑒𝑟𝑒𝑓𝑜𝑟𝑒 𝑡ℎ𝑒𝑟𝑒 𝑤𝑖𝑙𝑙 𝑛𝑒𝑣𝑒𝑟 𝑏𝑒 𝑎𝑛 𝑜𝑣𝑒𝑟𝑙𝑎𝑝.
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𝐽 = 𝑥° = 360 − 90 − 90 −𝑀° = 120°

𝑀° = 60°
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𝑇ℎ𝑒 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑒 𝑖𝑠 𝑔𝑟𝑒𝑎𝑡𝑒𝑟 𝑡ℎ𝑎𝑛 𝑜𝑟 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 50%, 𝑡ℎ𝑎𝑡 𝑖𝑠, 𝑔𝑟𝑒𝑎𝑡𝑒𝑟 𝑡ℎ𝑎𝑛 𝑜𝑟 𝑒𝑞𝑢𝑎𝑙 𝑡𝑜 1.5.
𝑆𝑜 𝑡ℎ𝑒 𝑓𝑖𝑟𝑠𝑡 𝑐𝑜𝑙𝑢𝑚𝑛 𝑚𝑢𝑙𝑡𝑖𝑝𝑙𝑖𝑒𝑑 𝑏𝑦 1.5, 𝑤ℎ𝑖𝑐ℎ 𝑖𝑠 𝑚𝑜𝑟𝑒 𝑡ℎ𝑎𝑛 𝑡ℎ𝑒 𝑠𝑒𝑐𝑜𝑛𝑑 𝑐𝑜𝑙𝑢𝑚𝑛, 𝑖𝑠 𝑡ℎ𝑒 𝑐𝑜𝑟𝑟𝑒𝑐𝑡 𝑜𝑝𝑡𝑖𝑜𝑛.
𝐼𝑡 𝑐𝑎𝑛 𝑏𝑒 𝑑𝑜𝑛𝑒 𝑖𝑛 50 𝑠𝑒𝑐𝑜𝑛𝑑𝑠.

2002 2003

Agriculture 1,098 1,757 1.6

Automobiles 505 414 0.8

Chemical 491 680 1.3

Industrial machinery 219 341 1.55

Metallurgy 738 1,091 1.47

Raw materials 1029 1,646 1.59

Texriles 429 307 0.7
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6,236 − 4,509
4,509 =

1727
4,509 ≅ 40%
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In year 2002, max-min value = 1098-219=879
In year 2003, max-min value = 1757-307 = 1450
How much increase in range is 1450-879=571
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n, could be 15, 25, 35.........95, if n = 25, m = 6
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The more dispersed, the greater the standard deviation

𝐴 = 20! + 10! + 0! + 10! + 20!

𝐵 = 20! + 0! + 0! + 0! + 20!

𝐶 = 20! + 5! + 0! + 5! + 20!

𝐷 = 20! + 20! + 0! + 20! + 20!

𝐸 = 10! + 10! + 0! + 10! + 10!
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50 − 50×
𝑝
100 = 𝑑𝑖𝑠𝑐𝑜𝑢𝑛𝑡𝑒𝑑 𝑝𝑟𝑖𝑐𝑒 = 𝑘 + 20

⟹ 30 −
𝑝
2 = 𝑘

⟹ 60 − 𝑝 = 2𝑘

⟹ 60 = 2𝑘 + 𝑝



Thanks
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